olve Special Types of
Linear Systems

. ldentify the number of solutions of a linear
system.
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Show that the linear system has no solution.
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Subtract the equations.

—2x+y=1 Equation 1
—2x+y = -3 Equation 2
Solution

: 0
-\ (%+y=-3) —> X*/*Iq=3
0 =4

The variables are ELiminNaED and you are left with
a_FAcse % This tells you that the system has
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A linear system withlinfinitely many solutions |

Show that the linear system has infinitely many
solutions.

x+ 3y=-3 Equation 1
3x + 9y = —9  fquation 2

Solve
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The variables are ,Emenrt:pand you are le_ft with a
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